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& “PARTZA % .
S (Short Answeﬂ)

Answer all 6 questions. (6x1=6)
1. Define statistic.
2. Define an efficient estifate. W%‘%
3. What doyou mean by stat;stlca! inference ’7;9 . _ _
4. State the 95% conflciéncg 1hterval for the mean of a normal dls’mbutlon when
ois known. < N N /N _ =

SMbefine the term testing of hypothekidd NN 2
6. What do you mean by non-parametric test ?

) PART -B

(Short Essay)

Answer any 6 questions. | (6x2=12)

7. What is the difference between estimator and estimate ?

8. Explain unbiased and sufficiency estimator.
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Answer any 4 questions.. &%
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16.
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20.
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Define the two types of errors.

Define most powerful test.

Distinguish between large sample and small sample tests.
What is a statistical hypothesis ? Give example.

Explain Mann-Whiteney U test.

Explain the term ANOVA erte any two uses of ANOVA
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2> (4x3=12)

& o N A By
What do you mean by two-way cl.a“ssification model in ANOVA ?
o

2 Y
Define Consistent estimator. Gwe anaexample

"go W 5.&*%

Dlstlngwsh between p%t estlmatlo% @dgﬂte%al est:matlon

Obtain 98% confidence |_nterval for the d:ﬁe;gence of two population proportion.

Explaiar: | N\

1) Simple and comp031te hypothesus

2) Size and power of a test.”

| 4

Consider the following 2 x 2 contingency table :

A
i B Male Female
Educated 7 1
Not Educated 6 8

Apply Chi square test and test at 5% level of significance whether the two
attributes A and B are independent ?
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Answer any 2 questions.

2.

22,

23.
24.

PART - D
(Long Essay)

Two independent random samples each of size 10 from 2 independent normal
distributions, N(u,, o,) and N(u,, ¢,) yield X; = 4.8, S"2 = 8.6 and X, = 5.6,

Ss = 7.9. Find 95% confidence interval for p, — ..

Before an increase in excise duty on tea 400 peoples out of a sample of 500
persons were found to be tea drinkers, After an increase in excise duty 400
people were tea drinkers in a sample of 60Q people “Examine whether there
is any significant decrease m consumphon of tea because of the increase in

excise duty. (a0 =0.05). eme " WS T
&y, CF o
Explain the Chi-square test of goodness of ffite \
Set a table of analysis o; v%anance for the fonowmgﬁdaia
\.lanetye
Plot A BN | & D
1 200 230 02 300
2 190 _Bde270ny] bl 270
3 240 /A IHRY [k 180

Test whether varieties.are d ifferent.

\

(2x5=10)



